Find the resultant SraphicCally.

A poliCe Car drives 70 Km due North.
Then, it drives 80 K at ah ahgle Of ¢0
degrees clockwise from North. Finhally, it
drives 50 Kilometers at ah anhgle of 30
degrees countercloCckwise from South.



golution... Almost

A police Car drives 70 km due North. Then, it drives 80 Km
at ah angle of ¢0 degrees clockwise from North. Finhally, it
drives 50 Kilometers at ah ahgle of 30 degrees
counterclockwise from South.
North “
! ! degrees
50 KM

Red Vector:

North-Component = +70 Km

East-Componhent = 0 K

Yellow VecCtor:

North-Component = (80 Km) X COS (40 degrees) =
East-Component = (80 Km) X Sih (40 degrees) =
Green Vector:

North-Component = (50 km) X COS (30 degrees) =

East-Component = (50 Km) X Sin (30 degrees) =




